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1. Consider the frequency response:

_2-107%jw(100 + jw)(2 - 10* + j2w)

H .
w) (30 + j4w)(1 + 7532
(a) Represent H(w) in the standard form i.e.

c(Gw)(1 + jw/ay)...(1 + jw/ax)
(1 + jw/b1)-..(1 + jw/bk)

(5 points)
(b) Draw the Bode Plot of H(w). (15 points)
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2. Find the Fourier Series coefficients of z(t) knowing that the Fourier Series

coefficients of y(t) are
e k=0
Ck = Ssinzg:ivr[:l!e_jkz,,/;; k;\éﬂ
2
€.l
00 1 2 3 4 5 6 7 8 9
t
_ 15
TRy igh 4. 5 8 .T. 8
o (20 points)
; ﬂftt)flr\
Solukion . X (8) = dix®) ‘ 2
dk
>
X TRl E
T= Bsec l__l
c -2t .
wo = _ZA-
3 )
X2
: r—‘I m
| N i T b
- YT L
Note ! 8&5 =y (t) L5
2 3 5 6 8 9 2k

gt Y = LX)+
2




, 23
ub\hg '\'he P*goPE)V\’\% 96 2

oy kK +0,
Gl & J_ij"")b"
SRR
BV ¢
whexe by, oxe qu,,.we%f'awib @6 ’LC)

by = ZCk k#0
JWe K

k2R~
2 x 36in (K28/3) e
J 28 XK x 2N K
3 K2/,
e

i

\
0
.|,
3
N
~
2

b oy l K= (@)
K 3 _jk?.ﬂ/_g
qgin(28KR) € k# O
e Mo S

JL(nRY®



(Gomifors. to HWI quasion 4)

3. Assume the following circuit is at steady state
Rs %

—

Uin(t) Ry

(Ry=Rp=20,L= 2H)
vo(t) is the output voltage at terminal A and B.

(a) Find the transfer function i.e. H(w) =Vo /Vin of the circuit at steady

state. (5 points)
(b) Let vin(t) = cos(t) + cos(2t). Find the output voltage vo(t)-
(5 points)
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